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QUESTION 1

Which migration method gives you the least downtime?
A. Data Guard

B. RMAN point-in-time recovery

C. Transportable Tablespaces

D. Data pump

Correct Answer: A

QUESTION 2

Which process does Oracle Data Integrator Enterprise Edition use to process and transform data for disparate relational
database management systems or Big Data Engines?

A. DML
B. ELT
C. SOA
D. ETL

Correct Answer: B

QUESTION 3

Which type of checks is NOT supported by Oracle Data Integrator (ODI)?
A. conditions

B. keys

C. references

D. mandatory attributes

E. business rule

Correct Answer: E

QUESTION 4

Which statements are true for Zero Downtime Migration? (Choose two.)
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A. It is a complex process that requires you to raise an SR with Oracle Support.
B. It ensures zero data loss.

C. Itis free.

D. It does not leverage Oracle MAA best practices.

Correct Answer: BC

QUESTION 5

Which parameter can be used to export a subset of data using Data Pump?
A. TABLES_AS_VIEWS

B. SUBSET_AS_TABLES

C. VIEWS_AS_TABLES

D. MATERIALIZED_VIEWS

Correct Answer: C
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